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Question 1 i is compulso:y and Answer any six from question 2 to question 8 .
...ALL BRANCHES (REGULAR) ‘ RN
. OBE
Marks

L. Given y"+xy'+y=0, y(0) = 1, y’(0) = 0, use Milne’s method to find y(0.4) and
with the help of the data given below.

y(0.1) = 0.995 y(0.2) = 0.9801 y(0.3) =0.956

y(0.1)= -0.0995 | y'(0.2)=-0.1960 | y'(0.3)= -0.2867

2. Using Taylor’s series method, find the value of y at x = 0.1 and 0.2 from y" = x%y — 1,
¥(0) = 1.Consider terms upto fourth degree.

3. Using modified Euler’s method, find an approximate value of y at x = 0.2 given
that y'= x +y and y(0) = 1, taking h = 0.1. Carry two iterations in each stage
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I. Given y"+xy'+y=0, y(0) = 1, y'(0) = 0, use Milne’s method to find y(0.4)  [8] U4 L3

with the help of the data given below.

Y(0.1)=0.995 y(0.2) = 0.9801 y(0.3) =0.956
y(0.1) =-0.0995 y'(0.2) =-0.1960 y(0.3) =-0.2867
2. Using Taylor’s series method, find the value of y at x = 0.1 and 0.2 from y" = x%y — 1,

y(0) = 1. Consider terms upto fourth degree . -

3. Using modified Euler’s method, find an approximate value of y at x = 0.2 given
that y'= x + y and y(0) = 1, taking h = 0.1.Carry two iterations in each stage.
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- Applying classical 4" order Runge-Kutta method, find an approximate value of y

for x=0.1 given that y" = x + y? and y(0) = 1. Choose h suitably. [7] ¢o4 f

J ]

Given y* = x*(1 +y) and y(1) = 1, y(1.1) = 1.233, y(1.2) = 1.548, y(1.3) = 1.979, W
evaluate y(1.4) by Adams-Bashforth method. i P L3
- Using 4" order Runge-Kutta method, solve Y =xy?—y2for x = 0.2, given the [7]
initial conditions x =0,y =1,y =0and h=0.2 ““ 31
- 7] €Ot 13 ]

. Find the Laplace transform of f(t) = 3!+ t sin t + (M] . [ ];

- Find the Laplace transform of f{t) = tecos 3t + (4t*+5) + sinh5t

+ Applying classical 4" order Runge-Kutta method, find an approximate value of y
for x=0.1 given that y = x + y? and ¥(0) = 1. Choose h suitably. [71
L0
Given y* = x*(1 +y) and y(1) = 1, y(1.1) = 1.233, y(1.2) = 1.548, y(1.3) = 1979, [71 T
evaluate y(1.4) by Adams-Bashforth method. Rt

+ Using 4" order Runge-Kutta method, solve Yy =xy? —y2for x = 0.2, given the [7];(70?
initial conditions x =0,y =1,y " =0and h=0.2 . |

& 7 Cot
. Find the Laplace transform of f(t) = 3!+t sin t + (MQJ ; 7]
;

Find the Laplace transform of f(t) = tecos 3t + (46+5) + sinh5t [7]; cor |
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